[ eomeTpus 7 Knacc.

HadanbHble reoMeTpuyeckme ceeaeHus.
PewleHne 3aaau.




VI3MepeHne oTpe3KoB.




3aaada N1

[laHo: PelleHne:
OTpe3ok AC . > *
.. AB=6cM A B C
BC=9c™M
AC-? AC=AB+BC ’
AC= 6+9=15cmM

OTBeT: 15 cMm.



3aaa4va N°92

[laHo: PelleHwue:

OTpe3ok MP ® ° °

MP=12cM M K P

KP=3cM

MK-? MP=MK+KP ’
MK=MP-KP=12-3=9cM

OTBeT: 9 cM.



3anada NO3

NlaHo: PeweHue:

OTpe3ok KN > o - ®
KM=9cwm K L M N
EN=ei KM=KL+LM, LN=LM+MN.
KN=12c™m

LM-? KM+LN= KL+ +MN=

=KL+ +MN.

LM=(KM+LN)-KN=(9+8)-12=5cm

OTBeT: 5 cMm.



3apayva N4

[1aHo: PelleHne:
OTtpe3ok FD e e Y e
FT=11cM F H Tr D
HD=9cw FT=FH+HT,  HD=HT+TD.
HT=5cM FT+HD=FH+ +TD=
FD-? =FH+2-HT+TD.

FD=(FT+HD)-HT=(11+9)-5=15cM

OTBeT: 15 cMm.



3aaada N5

PelleHwue:
[1aHo: g of * *
OTpe3ok AD A B C D
AB=CD
[okazaTtb: AC=BD | AC=AB+5C ’
BD=BC+CD

1o ycnoBuio 3agavn AB=CD,
3HaumnT AC=BD

4y.T.a.



3aaa4da N°6
[aHo: PelueHue:
OTpe3ok DF g £ $
| D 2 ) K
DF=24cm
FE=3DE Myctb DE=X, Toraa FE=3X.
DE. FE-? DE+EF=DF
' ' X+3x=24
4x=24
X=24:4=6

DE=6cM, FE=3-6=18cM.

OTBeT: 6 cM, 18cM.



3ana4ya N9/
[aHo: PeweHue:
OTpe3ok KE 7 2 2
KE=21cM K P E
KP=PE+3c™m Myctb PE=X, Toraa KP=3+x.
PE KP-? KP+PE=KE
' ' X+3+x=21

2x+3=21

2x=21-3

X=18:2=9

PE=9cM, KP=3+9=12cM.
OTtBeT: 9 cM, 12¢Mm.



3aaada N°8
[aHo: PelleHne:
OTpe3ok AB ¢ * o
AB=28cM A C B
AC:CB=4:3 [Myctb AC=4x, Toraa CB=3x.
AC. CB-? AC+CB=AB
' ' 4x+3x=28
7x=28
x=28:7=4

AC=4-4=16cM, CB=3-4=12cMm.
OTBeT: 16 cM, 12cM.



-

VI3mMepeHue yrJios.
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3aaada N1

,CI,aHO: PeweHue:

A
«AOC p
~ AOB = 45° 0 C
~BOC =21°
—poc el o
OTBET: 66°.



3aaa4va N°92

[laHo: PeweHue:
~ EDK = 36° %F
~ EDF =21 5 v
~ FDK -?
~ EDK= _. EDF + _. FDK ,

-~ FDK= _. EDK - _. EDF
-~ FDK =36°- 21°= 15°
OTBeT: 15°.



3aaada N°3

D,aHO: PeweHue:

A
_~ ABC = 72° D
~ DBC=_. ABD+26° . C

n




3aaada N4

[laHo: PelleHne: A O
~ ABD = 100° \/ =
< CBD= 4 - &ABC B

n




3apadva NO5
PelueHue:
[aHo: & C
-~ ABD = 105° \/ =
~ ABC: _.CBD = 3:4 B
-~ ABC, .. CBD -?

n




CMeXXHbIe YrJibl.




3aaada N1

,Cl,aHO: PeweHue:

ZL 11L R
CMEXHbIE YI /bl 1 7

30+1¢=2¢°

2¢ ,1¢_?

n




3aaa4va N°92

,Cl,aHO: PeweHue:

ZL 11L _
CMEXHble Yr/bl 1 \2

90+1¢=2¢°

2¢ ,1¢_?

n




3aaada N°3

[laHo: PeweHune:

ZL 11L _

CMEXHbIE YI/Ibl : 5

2¢ " 3 =1 <

2¢ ,1& - ? ,




3aaada N4

[laHo: PeweHune:

ZL 11L _

CMEeXHble Yrbl 1 \2

1:5 = 2& 1] <

2¢ ,1& - ? ,




3aaada N5

[laHo: PeweHune:

OD — buccekTpuca & D

~ COE + .
-~ DOE = 37° =

&BOC, LCOE -

CMEeXHbIE YI /bl

- BOC -7




3aaada N°6

[laHo: PeweHune:

OC — bucceKkTpuca A :
~AOD - D
&BOA — 1080 0

CMEeXHbIE YI /bl

2 AOC -7




-

BepTvikasibHbie yr/ibl.




3aaada N1

[laHo: Pewlenne: A B

« BOA, .. AOD,

n




3aaa4va N°92

[laHo: PeweHue: A
~ AOB = 55°
&COD — 250 F




3aaada N°3

[laHo: PeweHne: B 'S
OE — 6uccekTtpuca =
- COD F A 0 b
~ EOD = 32°




3aaada N4

A B
D C
0

[1aHo:
~AOD + _. AOB +
< COB = 2100

PeweHue:







